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1 Introduction
This contribution provides a text proposal for CA_n71A-n77A 3Tx with 2Tx on n77 for TR 38.880. 
This revision recalculates the PC1.5 IMD MSD based on the fact that for the IMD, all the power increase from PC2 to PC1.5 is in n77, and the IMD order for n77 is 1. 
Text Proposal

<< Beginning of Text Proposal >>
5.x	CA_n71A-n77A
5.x.1	Operating bands for CA
Table 5.x.1-1:  CA band combination of band n71+n77
	NR CA Band combination
	NR Band

	CA_n71-n77
	n71, n77



5.x.2	Maximum output power for inter-band CA
Table 5.x.2-1: UE Power Class for 3Tx inter-band CA with UL MIMO
	NR UL CA Configuration
	Class 1.5 (dBm)
	Tolerance (dB)
	Class 2 (dBm)
	Tolerance (dB)
	Class 3 (dBm)
	Tolerance (dB)

	CA_n71A-n77A
	293
	+2/-3
	262
	+2/-3
	23
	+2/-3

	NOTE 1:	(Void in this TR)
NOTE 2:	The UE supports PC3 in FDD band and PC3 or PC2 with UL MIMO in TDD band.
NOTE 3:	The UE supports PC3 in FDD band and PC1.5 with UL MIMO in TDD band.



Table 5.x.2-2: UE Power Class for 3Tx inter-band CA with TxD
	NR UL CA Configuration
	Class 1.5 (dBm)
	Tolerance (dB)
	Class 2 (dBm)
	Tolerance (dB)
	Class 3 (dBm)
	Tolerance (dB)

	CA_n71A-n77A
	293
	+2/-3
	262
	+2/-3
	23
	+2/-3

	NOTE 1:	(Void in this TR)
NOTE 2:	The UE supports PC3 in FDD band and PC2 with Tx Diversity in TDD band.
NOTE 3:	The UE supports PC3 in FDD band and PC1.5 with Tx Diversity in TDD band.



5.x.3	MSD scenario studies
Table 5.5.3-1 and 5.5.3-2 summarizes frequency ranges where harmonics mixing, cross band leakage, IMD interferences occur for CA_ n71-n77. 
 Table 5.5.3-1: MSD scenarios for CA_n71-n77 with total power class 2
	
	Aggressor Tx
	Victim Rx
	Whether 2Tx requirements exists

	Harmonic Mixing
	
	
	No

	IMD
	n71+n77
	n71
	Yes

	Cross band leakage
	n77 UL
	n71 DL
	Yes



Table 5.5.3-2: MSD scenarios for CA_n71-n77 with total power class 1.5
	
	Aggressor Tx
	Victim Rx
	Whether 2Tx requirements exists

	Harmonic Mixing
	
	
	No

	IMD
	n71+n77
	n71
	No

	Cross band leakage
	n77 UL
	n71 DL
	Yes



5.x.4	REFSENS requirements

5.x.4.1	REFSENS requirements for total power class 2
The PC2 IMD MSD can be re-used from 2Tx.
	CA_n71-n77
	n71
	681.5
	5
	25
	635.5
	11.4
	FDD
	IMD57

	
	n77
	3361.5
	10
	50
	3361.5
	N/A
	TDD
	N/A



For 2 Tx the power is 23 dBm for n71 + 23 dBm for n77 = 26 dBm total.
For 3Tx the power is 23 dBm for n71 + 20 dBm + 20 dBm for n77, 23 dBm on n77 and 26 dBm total.
The PC2 MSD due to cross band isolation can be re-used from PC2 with 2Tx and therefore is not shown here.

5.x.4.2	REFSENS requirements for total power class 1.5
There is no PC1.5 MSD requirement for CA_n71-n77A because PC1.5 requires 2Tx in the TDD band currently. 
For 3Tx the power is 23 dBm for n71 + 24.8 dBm + 24.8 dBm for n77 for 27.8 dBm TDD, 29 dBm total.
Therefore, the n77 power is increased by 4.8 for PC1.5 compared to PC2 since the n71 power is unchanged. 
And for the IMD combination, it is -4*n71_Tx + 1*n77_Tx = n71_Rx
So, we can expect 4.8dB IMD power increase because the order for n77 is one.
MSD due to interference power I is given by:
[image: ]
where N is the noise spectral density and BW is the bandwidth of the carrier. If the initial MSD is known,
then we have:

 [image: Text

Description automatically generated]

If I is increased by X dB, then MSD(X) is given by
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Based on the 4.8 dB dB increase intermod power, the resulting MSD is 16.0. 
	CA_n71-n77
	n71
	681.5
	5
	25
	635.5
	16.0
	FDD
	IMD57

	
	n77
	3361.5
	10
	50
	3361.5
	N/A
	TDD
	N/A



The PC1.5 MSD due to cross band isolation can be re-used from PC1.5 with 2Tx and therefore is not shown here. 

<< End of Text Proposal >
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